ark (4 Stroma |+ Carboxy lation

reactnm * Reducuon of POAS Formation
| ol PGAL
| = Hepeneration of CO accepion
« Syathesis of carbolvdrates
2005 April - MOOQ Answers (any)
S — i : 1 D2 = 20 marks
3 i i6 -2 | 31 -3 | 1 - 4 ;
R 17 .3 [ 24 = v 3 | () Phisiological Anatomical
=7 ' | = -3 Ornientation of leaves * [argesurface area of feal’
| 1 _ 1 18 -4 L 33 .4 AT towards light! Phototiopisan leaves are thin and flw
S N i . . . Opening of stomata i s |ransparent epidermis and
4 - 3 19 -2 4 - 3 49 - 4 response to light culicle
) -2 35 -2 50 -2 Movement of chloroplasts in)e Palhisade cell layer arranged
5-2 20 = S0 -2 Fallisade cells towards light length wise
-1 21 -3 36-2 51-4 s Pallisade luyer packed with
g chloroplast  Spong)
l 7-2 22-4 37-23 32 -4 parenchyma containing
37 . 18 . 1. { intereellular spaces
| §-4 23 4 38-3 S3-1 ° E-'.:,-sl,ﬂnufmmsi\‘f\a.wuh!r
'| 9-4 24 -3 39.4 54 -5 {any 1wo) tissues
. (any two)
3 25- - -
10-3 2D all 40-5 55-4 4x 02 =08 marks
1-45| 26-3 | 41-5 | 56-1 —_—
(Cr ) =
12-2 27-3 42 -4 57-5 activity
| 13-5 | 28-2 |43-2 | s8-2
1 PH
14-4 | 29-4 | 44-2 | 59-3 -
15-1 | 30-4 |45-2 | 60-4 0
Part A-Structuied Essay Enzymc
A 1. Light absorbed by the photosynthetic pigments acuvity
2. Inthe Blue (430 - 500nm) and Red (650 - T00nm)
regions of the Sepctrum
3 Is used in photosynthelic Temperature
or (&)
I. Rate of photosynthesis is highest in the Blue (430 - 40
500nm) and Red (630 - 700nm) regions of the
spectrum.

[

Photosynthetic pigments absorb light in the same
regions of the spectrum.

(i1} Denaturation of enzvimes due w
3. Therefore light absorbed by the pigments is used in

Loss of / breakdown of three dimensional structure of

3

photosynthesis protein/ enzyme molecule
' 2x1=04 marks
3x2 =06 marks
BIY  vaior stage Site at Which | Major events
of ph:tosyntiesis takes place in the [taking place at (D)
chloromoplast each stage. (i) Organic compound Elemental composition{Major function
(i) Lightreaction |(3) Grana Thylokoid ® Absorption Carbohydrates 1€ H. O Storage
membranes. of light by Structural
pigments Energy Source
(Any)
* Photolysis .
of water/ Lipids C.ILO Structural
g?ﬂguc!mn Storage
» Production E":Ey?}”m
of ATP . . ,
; Protens CHONS Storage/ energy |
. s;'nducllun source
Structural
NADPH, Enzymes
{any 3) Hormones
AL 'Biology' 2005 - April A-35 Sadeepa Publishers
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Add dilute iodine 10

Omne which does i

Add equal amounts of the other twi
amounts of the cnzyme (amylase)

mx well

take & drop of the mixture al

intervals of 2 minuics

on the white tile

Obscrve and note the time taken to complete the

reaction
10. more time will be taken for 00.5% starch sotution than

for 0.1 starch solution.
10x2 =20 marks

Total 102 marks
Max - 100 marks

() Gibreilin
{c) Cytokinin

{d) Enthylenc
9 x 9= 27 marks

Total 103.5 marks
Maximus 100 '
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11 death Jrath

[ ;
Fowsal el ' |
Coal petolenm

it e

14

Carbon in dead ‘

CHRANC T

b
—Sedimenta-
nan
14 x 2 =28 marks
() ) Troposphere, stratosphere, mesosphere, thermosphere
(10 all 4 are given in sequence 2 points. il 3 are given in
sequence | point)
2x2=04 marks

1x2=02 marks

Heterpsg
Dispersal of
Wil
|'|||.-||'.'-_||]||.,-|;,
LATALY L[

s |
exunl pumeto phyle

resence of morphologically similar
different sirains (+ and -)
which 1 arl in sexual reproduction
A thack walled spore
resulling from the lusion of isozametangia
ey~ Deleted
(d)y- A fruit body lormed afier
sexual reproduction of ascomycetes

Ix212=71/2 marks

(B) Part in Angiosperms
(i) (a) - Stamen
(b} - Carpel
(c) - Pollen sac
(d) - Flower
(€) - Embryo sac
Sx21/2= 12 1/2 marks




 pxzin=212marks
{Vﬂ Churluu ﬂlenm:s{i points) 2x2 1/2=05 marks

(vii) HCG

Progesterone

Somastomammotrophin/ HCS

Human placental lactogenic hormone/HPLH
(Any three)

3x21/2=71/2marks
(Total 40 x 2 !ﬂ = 100 marks)

) Part B - Essay

{a) Water moves from soil xylam through three pariways
I. *Apoplast” (is the interconnected web) consists of
Spaces within cell walls
Intercellular spaces
Filiferous Layer and cortical cells of root
Weter moves freely by "diffusion” and
By mass flow
“Simplast” consists of (is the web of}
Protoplast of cells
Interconnected through plasmodesmata of cell walls
I[I Water movement is by "diffusion”
11 After water has enterd the cell throug “plasma
mambranc” of root hair cells by
12, "Osmarsis”
13. "Vacuolar pathway”
14. Movement of waler from vacuole to vacuole
15. Waler passes through "tono plast”
16. Cytoplasm and
17. Plasmalemma by
18."Osmosis”
19. Water then passes through endodermis
20. Casparian strips block apoplast movement
21. Allowing water 1o enter pencycle
22 Through simplast,
23, Vacuolar pathway in to the xylem
24 Water potential of root hair cell is less then that of soil
water due to
25 Dissolved substances in root hair cells
26. Soil solution has a higher water potential than root hair
cell
27 Therefore water moves from soil 1o root hair cells
28 Along water potential gradent
29. Water movement from soil sulution into xylem takes
place along a water potential gradient

TR

(b)

. Transpiration pull/ transpiration from leaves

. Reduce water potential of mesophyll cells

3. Creating a water potential gradient between xylem and
mesophyll cells

As aresult water moves from xylem w mesophyll cells
Cohesion and

Adhesion of water molecules

Maintain a continuous column of water in the xylem/
prevents breaking of water columns

A continous gradient of water potential exists from soil
to mesophyll cells through cortical cells of root.
Which results in pulling / morement of water into leafl

mesophyll cell

bd =

N uwe

=

19+ 9 = 38x4 = 152 marks
(Max = |50 marks)

‘Gross mmctuu-
4,

Wall -

5

6.
7.
8

=

V0. Inner

one shaped
Em:luscd ina puﬂmﬂium

Quter
Epicardiuny/ visceral pcrlcnrdlun

Middle
Myocadium

. Endocardium N - 16|

Epicardium - f1 £
12. Is amambranc % il

Endo cardium -

13. Thin

14. Mambrane

Myocardium -

15 Thick layer

16, Of cardiac musglus

| 7. Has 4 cavities’ 4 chambers

I®. 2 aunicles and 2 venricles

19. Auricles located supenor 1o ventricles

20, Spetum divides heart in to 2 halves

21, Right and lefi

22 Each half with an suricle and a ventricle

23 Tricuspid valve between RA and RY

24, Bicuspid/ Mitral valve between LA and LY
25. Wall of vemtriclus has cone shaped projections
20, Known as papillar muscles

27, Tendinous cords i cordae lendineae) connecis v alvexl

(b

papillary muscles

28, Pulmonary arters arises from RV

29 Opening 15 guarded by {pulmonary) semilunar valvey
W Aortic arch’ aora anses from LV

31, Guarded by semilunar valves

32 Semilunar valves have 3 cusps

13

.
35
in.
17,
iN.
i

o

I

LA with 4 opemings

For the entry ol pulmonary veins

RA wuh 2 Openings

FFor the entry ol supenor vena cava

And infenor vena cava

Wall of ventricles thicker than the auncles
Wall of |V s thecker than the RV
Presence ol coronary arlenies

40 1 2 marks = 80 marks

wdrae ey ele

Is the series of cvents that take place within a singe
heart beat

Consists of contraction and relaxation of the sundke
and ventricles

Consists (0f 3 stapes) Atrial systole. ventriculat sy
and cardiac diastole

Last for O 8 second-

Atrial syatole -

3

6 4 pulmonaty vems pour hlood i to LA
T AV Valves npen

Y

. Forcing hlood into ventnicles

g ot .o L
Superion vena cay g and inferior vena ﬂ“wmi"f :
lo RA e

Both atna contracts sunuliancously
Caused by stimulanion of SA node

Sadeepa Publishers
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11. Takes 0.1 seconds
Ventricular systole -
12. Both ventricles contracts stimullaneously
13. Caused by stimulation of AV node
14. And spread of impulse Via AV bundle
15, And Perkinji fibres
16. Semilunar valves open
17. Forcing blood out through pulmonary artery
18. And aorta
19. AV Valves closed
20. Takes 0.3 seconds

Adtrial and ventricular diastole/ complete cardiac diastole-

.1 Baoth atria and venticles relax 1o gether
; flows into atria
cavae and pulmonary veins

Openings of palmanary

(b) Humansex linked inheritance

(1) Shown by gen rricd in X - chromosome

{2) Shown by recessive mutations/ recessive gene/
recessive allely

{3) Expressed in males because thay carry anly one
¥ = chromosme

14} Mot expressed in lemales because they carmy two
X= l:j]!'{] mosme

{3) Heterozygous lemales arce carriers! mherited from
mother 1o son

{6) Rare in population/ not common

(7) Examples colour blindness! Hacrmophilia

(8) Correct dingramuttic representation

Sex tinked inheritance ol Man

Perents - IMI* X M
XX AY

d
carrierfemale Motmal male

OO O®

Hy & HA )
1y LA, sl Ly

Nomal femle mmﬂ- Normal female Affecied male




(T) Examples, any quantitative characier ol D

plants or animals, Height, weipht, skin colou

number of Mowers, fruits, ejgps, ammount of ik i

Cows el
(8) Comect diagramattic representabion

T T LTI, » WL,
{individuals with extream characlers
Large number of intermedintes

Frequency
in Populution

Charneter

30 x 5= 150 marks
Total = 150 marks

Soil contains a diversity of microorganisms

(%) Lisa ol punth 1l
() hivigatiom

{7y Memoving i

() Dhewrons Fapancdi v

(0 Remov Faiphi

{10} Increase CL)

(1 1y Pxpst Tt

i 12 Cause grosion ol wiil

{13} Leaching ol ot iend

{14y Devreise ol ol Tertility

{ 15) Pollution of g wales

{ 1) Pesti jles pemoves e ful husrinl

(17) brrigation causes INLTEas of salimity

(18) Invasion by exulic Wit i B

(19) Monogultures cuans epidemic damages 1 crup
19 x 8= 152 marks

(Max 150 marky)

Human pinireis

Location :

{1} In the abdominal cavity

(2) Inthe curve of the duodenum

of head, body and (nisrrow) tail




© Non photosynthetic modes of nutrition in plants

(1
(2)
3)
4
(3)
(6)
(N
(8)
)

Symbiotic relationships such as

Mutualism

Example Rhizobium bacterium

Providing nitrogen to legumes

Fungi in Mycorrhiza of plant roots
Providing mineral and water

Commensalism

Orchides growing as epiphytes

Getting mineral nutrition from barks of trees

(10 Semiparasites examples

(11) Loranthes

(12) Getting mineral nutrition

(13) From host trees

(14) Total parasites example

(15) Cuscuta

(16) Getting carbon

(17) And mineral nutrition from host plant

(18) Insectivorous plants

(19) Examples, Nepenthes or Drosera or Utricularia
(20) Getting nitrogen nutrition from inseet traps

18 x 3 =54 marks
Total 50 x 3= 150 marks

TR R



